



$$EX: LET$$

$$I_{n} := \int_{0}^{n} \int_{0}^{n} \frac{x_{1}^{2} + \dots + x_{n}^{2}}{x_{1} + \dots + x_{n}} dx_{1} \dots dx_{n} \qquad \lim_{n \to \infty} I_{n} = (?)$$

$$SOLUTION: LET = X_{11} = X_{21} \dots 1.1.p. \quad UNIE_{0,1} = (?)$$

$$THE N = I_{n} = E\left(\frac{x_{1}^{2} + \dots + x_{n}^{2}}{x_{1} + \dots + x_{n}^{2}}\right) =$$

$$LET = Y_{n} := \frac{x_{n}^{2} + \dots + x_{n}^{2}}{n} \qquad \exists_{n} := \frac{x_{n} + \dots + x_{n}}{n}$$

$$WE AK = LAW \quad OF = LARGE = NUMBERS:$$

$$Y_{n} \implies E(x_{1}) = \int_{0}^{n} x^{2} dx = \frac{1}{3} \qquad I_{n} = E\left(\frac{y_{n}}{2m}\right)$$

$$E = Z_{1n} \implies E(x_{1}) = \int_{0}^{n} x dx = \frac{4}{2}$$

$$NOTE: 0 \le \frac{x_{1}^{2} + \dots + x_{n}^{2}}{x_{n} + \dots + x_{n}} = \frac{x_{n} + \dots + x_{n}}{x_{n} + \dots + x_{n}} = 1$$

$$THUS = IF = Q(x) := \sum_{n}^{n} O = F(x \le 0)$$

$$I_{n} = E(q(x_{1})) = \int_{0}^{n} E(q(x_{2})) = \frac{2}{3}$$

$$I_{n} = E(x_{n}) = \sum_{n}^{n} E(x_{n}) = \sum_{n}^{n} E(x_{n}) = \frac{2}{3} = \sum_{n}^{n} \frac{1}{2} = \frac{2}{3} = \sum_{n}^{n} \frac{1}{2} = \sum_{n}^{n} \frac{1}{2}$$

DEF: CHARACTERISTIC FUNCTION OF THE RANDOM VARIABLE X:  $Y: \mathbb{R} \rightarrow \mathbb{C}$   $Y(t):= \mathbb{E}(e^{i(t,X)})$   $NOTE: e^{i(t,X)} = co(tx) + i nin(tx), THUS$   $Y(t) = \mathbb{E}(co(t,X)) + i \mathbb{E}(nin(t,X))$  $\mathbb{E}(t) = \int_{-\infty}^{\infty} e^{i(t,X)} f(x) dX =$ 

NOTE FIF THE MOMENT GENERATING FUNCTION  $Z(\lambda) \stackrel{\text{E}}{=} E(e^{\lambda \cdot X})$  is finite for  $\lambda \in (-R, R) =$ THEN BY  $e^{a+b\cdot iF} = e^{a} (co(b)+i\cdot m(b))$ WE HAVE le le THUS  $|Z(a+ki)| \stackrel{\blacksquare}{=} Z(a) \angle +\infty$  IF  $a \in (-R,R)$ THUS  $[\Upsilon(t)] \angle t \propto IF Jm(t) \in (-R, R)$ AND Y 13 AN ANALYTIC FUNCTION ON THE STRIP ZEEC: Im (t) E(-R,R) 3 = IN PARTICULAR: (P(t) = Z(i.t) = PAGE 85

IN PARTICULAR:  

$$\begin{aligned} x \sim N(0,1) \implies Z(\lambda) = e^{\lambda/2} \quad (\text{SEE PAGE 14}) \\ \text{SO } Y(t) = E(e^{it \cdot x}) = e^{t^2/2} = 1 \\ x \sim E \times P(1) \implies Z(\lambda) = \frac{1}{4-\lambda} \quad \text{IF } \lambda < 1 \\ \text{SO } Y(t) = Z(\lambda) = \frac{1}{4-\lambda} \quad \text{IF } \lambda < 1 \\ \text{SO } Y(t) = \frac{1}{B} \quad \frac{1}{4-i\cdot t} \quad t \in \mathbb{R} \quad \frac{\text{SEE}}{HW2.4(d)} \\ \\ \underline{NOTE} : \text{IF THE } OIST RIBUTION \quad OF \quad x \text{ IS} \\ \underline{SYMMETRIC}, \quad \text{I.E. } \text{IF } \underbrace{X \sim (-x)}_{1} \quad \text{THEN} \\ Y(t) \in \mathbb{R} \quad \text{AND } \underbrace{Y(t) = E(\cos(t \cdot x))}_{1} \quad \text{THEN} \\ F(t) \in \mathbb{R} \quad \text{AND } \underbrace{Y(t) = E(\cos(t \cdot x))}_{1} \\ \text{BECAUSE } \min(-x) = -\min(x) \quad \text{THUS} \\ \text{IE } (\min(t \cdot x)) = E(\min(-t \cdot x)) = -E(\min(t \cdot x)) \\ \text{THUS } \text{IE } (\min(t \cdot x)) = 0 \\ \end{array}$$

PAGE 86